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image9.png
Look at the numbers.

15 7 16 8

Use two of these numbers to make this correct.

(-[]-
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Write the missing number in each box.

is 1 less than
19—

is 10 less than
19—
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When Desi is 4 years old, Sita is 10

When Desi is 9 years old, how old will Sita be?
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Look at these cards.

(8] [¢]

(@) Use each card once to make the largest total.

(-1

(b) Whatis the total?

]




image6.png
Tick (v) the two numbers which total 50
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The strawberry weighs 24 grams.

The strawberry and tomato together weigh 69 grams

What does the tomato weigh?
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1

Write the number in the box to make this correct.

60—40=20*|:|
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Put a number in the box to make this correct.

32

40

1]
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There are 10 pencils in each box and 4 more pencils.

How many pencils are there altogether?
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2| Here are two cards.

]

o

Choose a card to make each calculation correct.

One is done for you.

o[+]1-5
23D1=22
40D1=39
19D1-20
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Write two numbers to make this calculation correct.

][ -

Now write three numbers to make this calculation correct.
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Write the correct sign in each box.

5B|:|26=84
43|:|17=26
33|:|33=0




